WA052 K5 EBE5E R . =

LCD¥F R

ERBBASESHHINESRE

TS TMEREE LR
4~ 20mAHIH, HARTER,

ExSAF | 1




IMERTE

121

USEIIR=, DEEERIE

97
157
150
o>
<3
U (&F)
Bfizmm

2 | ExSAF



HitE

FRhE
it R ARET

IMRIRREIELE
LCDAf

BR=EM j

W7 REEIRET

\ \ﬁﬁ¥%éﬁ1¢
U EERA

FoREM

\— IBEEERIAELR

\—5Er§§i£’f§i9%$§}§%§k

IBEEREE

EEE= RIS
(BT ATE)

ExSAF | 3




(ERiER IR E

3 4 5 6
w

PERPENE
(ZEHHl)

3 4 5 6
" U
+ -

HEEE
(PREBLIRHME)

R IEER

3 4 5 6 3 4 5 6 3 4 5 6
Wi U Yy
PERNE PEERNE HEIPRSEIE/
(&%) (PO&&H) EENE
3 4 5 6 3 4 5 6 3 4 5 6
LM VY Uy
HEBNE AER(EE AR FIE/
GPESIHIME  (PELIHIME EZENE
Pt100—%Ze#l) Pt100=%41)

ExSAF



ExSAF

WA4052 R 58 5EREZIERR

7]

MZLCDLRHRE B
ERESRMASESHHLNBSRES
TR SERESR— MR, T B
XIF g, =4, PZHIEE
IFREEE, BEMERENR



=
FEmESE
i -
AEENIEREES: HAEE PT100
HER(E K
W RzAIE): 250mS
TEERSE:
ezt PliEzudl
A PT100
an F#y .
BAES P PR | e
' ERES: -100mV~1100mV
o s 0.2°C (PT100 0.1°C (PT100
grmmre | 0250 | e
RERBSIRIRE <1°C <0.5°C
RSN <0.008%FS/V <0.005%FS/V
B <0.02%FS/100Q | <0.012%FS/1000
KHE= <0.04%FS/4 <0.03%FS/&

KLS#: Ui=28VDC li=93mA Pi=0.65W Ci=23nF Li=1.2mH

St
HEBEIR: 24VDC (EEITIFREER: 11~35VDC)
BHES: 4~20mA, HARTER

S

FiktRE: ADC124BEE. 3164455N

ESEO: M20X1.5. 1/2NPT

B B EZFYIKG (REEIFPEETEREETD)
FEFEFEHT: WP17~P25

Nk
PHIINIE: FRIBEL: Exd IIC T6 Gb
AZH: Exib IIC T4 Gb
H4THRE: GB 3836.1-2010.GB 3836.2-2010. GB 3836.4-2010

EEFRIRIE

BEESEE!: -40°C ~80°C (RBER: -30°C~70°C)
IRESEE: 10~95%RH (L&)

BhiPER: P67

ExSAF



EUDERE
02d | €M
Ilo | em
Zlo | Im
% [ om
(cOvLHEY) HESHHE | &Y
90 | sa
SEEFES | &Y
19LE | 2
v0E | IS
% | os
(2OV-EEHEY HHSHhE | Gy
19LE /| ew
v0€ voE | LN
Ei%E) BlEwEey | &y
Lol ]
H
RS
%4 [5)
%V [5)
e Y
ZFYEES
HiEs0011d | BB L
Higs | sEw | Y
SEYRRS)

B z

Gl

d
RS | B

(EEATS) B+ BES ISR

EiesW/ BB R | 2oV

(FHONGENES R "DET) BRI ERE

B B BT RRES | L0V

2=

SOEmERES | BY

O BG LX0ZN "4V 9LE 12

CIFSBLdNYL-2/L "G 9LE (2]

DI BS LX0ZIN 'SEN6E SEIEY) [2)

OELSB1dNYL-2/L 'S SR %)

W | Y

S8YSY €d

LVH ‘vwoz~v ad

vywoe~v Ld

SRS | &Y

N
TEEE | 1L
YEEE | &Y
EREETHY—GE RS | VLFEEM | H
Bl R | Y
SEREHBEEE | 2S0rM
HHNES | &

FEVENRIEIRLEISOrM

ExSAF



0L02-6116 L/9DYERX=ZF «

X _ (UL AEERIEN W TS ZE «
62d~ L LAY EIEAERE UM\ LR «

(TgLe7535%) V90Tl L4 of € 204 M sa IS LA 13 1D 4 2V o Ud 1L H Nmo_:si
I
(E2Ra)) WESEES] X1
(Nx7) W wwEEEEs)| Gy
99 1 DIl 93 FESZHY €4
99 91 DIl PX3 L4
ENAIERY
2+EEN| 0Ll
S'LxCCN 6
2/19 8r
SL«CLIN Ll
/€9 El}
LdNv/€ Sr
1dNz/L 148
2xLZN €r
S'Lx0CZN cr
SL¥9LIN Lr
% or
(R BN e S AT S-LEHE 00=H) R EHAE | &)
S'L«CCN| 88
SL«CLN| /9
/| 99
/| s9
1dN2/L| ¥4
CxLZN| €9
S'L«0ZN| 24
SLL9LN| 18
¥ o9
(EU RS EGaeH ] L GEs (LT SRkl wY

(LMEBHEY) 2.EEN YEX5EIE / 814
(LMEBHEY LdNZ/L EXERE / L4
(e "LMEERSED §'L«0ZN YEE5E / 9ld
/ / Sld

(EMEBIZ)LdNT/L EX7E ST / vld
(EMEBHZYS L«0ZN Y5 T / €14
(CMEBZYS L9 LN Y& T / 2ld
(LMEBZYS Lee LN Y5 AT / L4
0SNQ EZHIE / 0Ld

OYNQ EZHTE / 604

SeNQ EZFEE / 804

02N EZFTE / 204

SING EZFHEE / 904

/ / 504

LdNY/€ X8R / 704

7/€9 FEXGEE / €04

LN FEXERE / 204

FrFHed) FEFIEY|  (rEEd) FEFIEY 104
(2OVLEREY) =R (LOVEREY y=8%88| &Y

ExSAF



TEEELR
o - EE R

W2052

UGER)

BA{:mm

ExSAF | 9




fedTl-ErraEyE. EaEEigsE

p

TEBLUIE

208

EE (EE) FE

FEBY

HEcE

MBRT M

M12x1.5-7H/6g

M14x1.5-7H/6g

M16x1.5-7H/6g

M20x1.5-7H/6g

1/2 NPT

M27x2

= UGER)

W2052

BAfzmm

10

ExSAF



IEERI-BEEREAZR, EREA=R

TEE=E

420

&S (EE) FE

g\ 385
|1o
Jal— 2
D1
HAERST
d D DO D1 d1 M
o6 D50 D36 20 7 M12*1.5
D60 D42 D24 9 M16*1.5

HRECE

U(ER)

W2052
05 BAf:mm




RPEN-TEEEER

(RIPEIUE
T ueEm
RIFEERD
20
16
- 12
)
EETITES]
oSV ATR,
& “2
i %
g =ssat g
%, 5
415 g2 @)
[ ueEm [ uesm
W4052 W2052 .
BAfi:mm

12 | ExSAF



FPED-ErgsE

EEIR R E RS

BB

150

M H | D
U(HER) G3/4 186 | o12
314 NPT o1
M27X2 20
M3X2_| .
M20X1.5 12
16
2NPT | 155 | ®12

BA{:mm




FPEN-EEi=R

BIEE=RIE

150

RECE

W4052

U(ER)

<
dd2 n-&d
e
H
i 7
®D2
OD1
®D
e EEMAERT
e D | DI | D2 [H|[d]n a2
PL-RF-DN15/PN40 |®95 |65 |45 |14 |14 |4
nez
PL-RF-DN20/PN40 | 105 |75 |®58 |16 |14 | 4 "iﬁf;:’“l =
PL-RF-DN25/PN40 | 115 |85 |68 |16 |14 | 4 (®121§32®16
PL-RF-DN40/PN40 [®150 [®110 [®88 [18]18]4 $020)
PL-RF-DN50/PN40 | 9165 | 9125 |$102 [20 |18 | 4
SVEATg,
@ "2
¥ o
s ExSef o
% &/
13 gy
150
U(HR)
W2052 BRImm
J

14‘ExSAF



(RIPEL( - tipemgm

LIFERTE
»D 150 170
EHIREP(FFE
GB/T6173-2000)
M D
——j M12*1.5 P12
M16*1.5 P16
M20*1.5
— 1/2NPT ®20
M~
ECE

BEf:mm




B RIRIPE

IR RIPERIE
®40
®35
®28
‘ M
30 H
50 —
f— =)
s] 2p (ﬂxiﬁﬁ)‘
o LA
i
1
)
*E
L B FERY
IRE R IR
D
50
U(IER)
W4052

M H D
M12*1.5
M16:1.5 12
M20*1 5 29 16
M22*1.5 ®20
M27*2
1/2NPT 16
EipE
RERPE
__ D
50
U(HR)
W2052




40
M
30 27 M D M D
M1215 | @8 wonpT |14
M16"15 | o14 18
— 14 14
60| 4 M20°1.5
2X2 18 3/4NPT | @18
14 22
M22*1.5
¢ 932 18 18
o2 14 M272 | 14
P18 »18
14 14
G3/4 18 M332 | o18
ol 022 22
24

(#F ™%
-5

AR (EE)
FEBY

150

BITERL

60 60 60
UGER) U(ER) g—u(#ﬁf)

W4052 W2052

BAfi:mm




HITERX

18 | ExSAF



7

I EERERL

IR
i

b

RERIPE
1B

&)
FERL

& (E

ExSAF‘ 19



SHEBEREIL

‘
J

20 | ExSAF



E=%RA

B AR
o B
X l[I — |/ \
oz B8
Sl
N X

ExSAF | 21



PR

*— TEERBE
F&IEC584/1EC751/)B/T551 8RR (& /BRI RAIF &
BRkEEREL | BN MESEE RNTTUER | NEBE
Pt100 (IEC 60751) -200°C~ +850°C 10°C 0.1°C
Eratzzliz]
Pt100 (JIS C1604-81) -200°C~+649°C 10°C 0.1°C
(S KE -200°C~+1370°C 50°C 1°C
T ISR EBEBEEEREE
nES BFR EER BRFHME(mm) fERRE(CC)
304 6.0 -200~+800°C
K I - R
316L 6.0 -200~+750°C
(SRR ERRE
PEES e EEMR BRIHHME(mm) ERRE(°C)
Pt100 SaeERE 304853161 3.0,4.0, 5.0, 6.0, 8.0 -200 ~ +750°C

22

ExSAF



B
£=: EREREBNRE

(%) KEE L (Bfizmm), THERREE<850°C BNREU (82:mm)
LOTA 230 80
LO2A 250 100
LO3A 270 120
LO4A 300 150
LO5A 320 170
LOGA 350 200
LO7A 370 220
LO8A 400 250
LO9A 420 270
L10A 450 300
L11A 470 320
L12A 500 350
L13A 520 370
L14A 550 400
L15A 570 420
L16A 600 450
L17A 620 470
L18A 650 500
L19A 700 550
L20A 750 600
L21A 800 650
L22A 850 700
L23A 900 750
L24A 950 800
L25A 1000 850
L26A 1050 900
L27A 1100 950
L28A 1150 1000
L40A 1250 1100
L41A 1350 1200
L42A 1450 1300
L43A 1550 1400
L44A 1650 1500
LA7A 1950 1800
L48A 2250 2100
L49A 2550 2400
L50A 2850 2700
L51A 3150 3000
L52A 3650 3500
L53A 4150 4000
L54A 4650 4500
L55A 5150 5000
—. RMBENRENHRE

BNENREATMER: 1. FFANREEUE, —RIBENRE2150mm,
2. BEANREENE LERomm (FENBNRNER) A ERIMNENRE, EEER
5mm, BEfffELE 240mm, BBAU=40+5+30=75mm, TELEB/BNFERNA80mm,
. (CRREEKERRE
RIBRNREARUN R T ERERE MK E,
NEAEL=U+150 (mm) (T{ERE<800°C)

ExSAF | 23



B

=M. RIFEERAMETREMR, M
i BEFIEEE (O R
316 -200~ +750 }gﬁ%iﬁ%%ﬂmﬁ@@mﬁ
( cjz:\lmi) ~200~+800 ggﬁ;@gﬁ%mmﬁ
3108 -200~ +1000 igﬁigigggﬁw&
316L 200 ~ +750 BEREE BERFREHEHmE
(1Cr18Ni12Mo2Ti) R
B
=ERR 0~+1300 TIeEE, BEERNRAEMAM. MRkt
RIER 0~+1600 Tig&EE, BEEMRAAAYE. MRk
sves2 -0 | e e AT
—ps 0~ +1600 EANRAENE. TSRt Miitee

ERT=RAA

24

ExSAF



PR

WnZe
HERS5FRE
TS L O EREHEL, EENLAE
S (PTFE) A BB E LK,
st
es
TRE
s
\
x L
) sk
\
L]

.

TERS L OEARBREE L, ERNAER
EET (PTFE)BGRIEE L EET B LA K.

TR
LS

jiskdasto

=

ExSAF‘ 25



FriRI Bt

fRIE
ERBLE

AL | RO ERPIRRE, RIEE NI A ENERETRIR
FHEEHEE, RO BIRKEEH (PTFE) R IFE L EE
BLAGK,

FrIEERE
EREG

BHEH
S
PrEE
PrigiRE
PaIR B EC it

s, EEHRGANENGRENTES

26 | ExSAF



